Anx-B.xlsx

Company			Name of contractor	G.Sneha Latha		Sl. No. site bills reg.		148	
Project/site	SOV_III		Nature of work	Earth Work		Dt. site bills reg.		17-06-20	
Block no.	136 and 214		Work done from date	01-04-2023		M-codex bill	ID.		
WO no.	NA	Work done to date		03-07-2023		WO issued ?			NA
WO date	NA		Contractor bill no.			GST bill requ	T bill required?		NA
Sl. No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
1	Villa no.136 and 214	Manual	Manual excavation of pits upto 5' de		3,357.00	CFT		9.00	30,213
2			Bulk Excavation by JCB -70%		7,834.00	+		2.50	19,585
3		Pits PC	C work 6"		298.00	SFT		6.00	1,788
4		Pits bac	k filling upto plinth botton	n level	7,925.00	CFT		2.00	15,850
5		Excavat	ion of brick work under p	linth	260.00	CFT		7.00	1,820
6			12" brick work under plinth		260.00	SFT		10.00	2,600
7		PCC at	plinth level + portico		713.00	SFT		6.00	4,278
8		Excava	tion for 3 sides compound	wall	413.00	SFT		9.00	3,717
9									
10					2.00	Lumpsum	EW143	80,000.00	1,60,000
								Total	1,60,000
							Add GST @	0.00%	
					Tot	al amount incl	uding taxes for	r work done	1,60,000
Remarks:	As per Md sir approval.copy a	ittached							
Approved by	APPROVED BY		Approved by QS team			Approved by	Director/E&D	team	
Sign:	APPROVED BY		Sign: Sign:						
Date:	17 40 2025		Date:						
Notes: 1. Th	his sheet 4 collaces installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issue					ed 4. Attach			

Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and certification of the strength of the str

SOV-3 C1 Const Cost Estimate 18-6-20 ver105 b.xisx Earth Work

Manual excavation of pits up to 5:0 depth - 30% 3,357 cft 9.00												
Project: Silver oak Villas I 10 to 214												
Silver oak Villas - 10 to 2 t									Silver Ook Villes LLD	me:		
Construction type					-				Silver onk Villag 101 to 21	Project:		
Construction type						ļ			Forth words		Estimate of:	
Date:						!				type		
S.No. Item Head Item Description Quantity Units Rate Rate Amount Total Labour S.No. Item Head Item Description Quantity Units Rate Rate Amount Total Labour S.No. Item Head Item Description Quantity Units Rate Rate Amount Total Labour S.No. Item Head Amount Total Labour S.No. Item Head Amount Total Labour S.No. S.No. Item Head Item Description Quantity Units Rate Rate Material Amount Total Labour S.No. S.No.		Τ								Date		
S.No. Item Head Item Description Quantity Units Rate Rate Amount Total Labor										a	Brochure are	
S.No. Item Head Item Description Quantity Units Rate Rate Amount Total Laber									2,040			
S.No. Item Head Item Description Quantity Units Rate Rate Amount Total Laborary Laborary Total Laborary Laborary Total Laborary Total Laborary Total Laborary Total Laborary Laborary Laborary Total Laborary La		<u> </u>			Material	Labour						
Namual excavation of pits up to 5'.0 depth - 30% 3,357 cft 9.00 - -		+	Item Head	Material								
Manual excavation of pits up to 5'.0 depth - 30% 3,357 cft 9.00 - -	our only	Lab			Rate	Rate	Units	Quantity				
3 Mohrum filling	30,216	Late	1000	- Intotal	-	9.00	cft	3,357	n of pits up to 5'.0 depth - 30%	Manual excavation of pit		
4 Sand filling	19,584	+-			-	2.50	cft	7,834	y JCB - 70%	Bulk excavation by JCB	2	
S Pits P.C.C Work 6" 298 sft 6.00 31.03 9,240	-	+		-	5.23	1.50	cft	-				
6 Pits Backfilling upto plinth bottom level 7,925 cft 2.00		+			95.23	1.50	cft					
6 Pits Backfilling upto plinth bottom level 7,925 cft 2.00	1,787	-		9.240	31.03	6.00	sft	298				
8 12" brickwork under plinth 260 sft 10.00 112.35 29,210 9 Backfilling of Plinth Beams, Leve ling and Final Comps - cft 3.00 10 Earth filling - Mohrum - cft 1.50 5.23 - 11 PCC at plinth level + portico 713 sft 6.00 26.41 18,838 12 Site cleaning - LS 1.00 - - 13 Excavation for 3 sides compound wall 413 cft 9.00 - 14 Labour LS - no - 0 -	15,850	-		- ,	-	2.00	cft	7,925	pto plinth bottom level	Pits Backfilling upto plin	6	
9 Backfilling of Plinth Beams, Leve ling and Final Comps 10 Earth filling - Mohrum - cft 1.50 5.23 - 11 PCC at plinth level + portico 713 sft 6.00 26.41 18.838 12 Site cleaning - LS 1.00 13 Excavation for 3 sides compound wall 413 cft 9.00 14 Labour LS - no - 0	1,820	+		-	-	7.00	cft	260	ick work under plinth	Excavation for brick world	7	
10 Earth filling - Mohrum	2,600	+		29,210	112.35	10.00	sft	260	der plinth	12" brickwork under plin	8	
11 PCC at plinth level + portico 713 sft 6.00 26.41 18,838 12 Site cleaning - LS 1.00 -		_		-	-	3.00	cft	-	nth Beams, Levelling and Final Compa	Backfilling of Plinth Bear	9	
12 Site cleaning	.120			-	5.23	1.50	cft	-				
13 Excavation for 3 sides compound wall 413 cft 9.00 - 14 Labour LS - no - 0 -	4,280	_		18,838	26.41	6.00	sft	713	el + portico			
14 Labour LS - no - 0 -	-	1		-	-	1.00	LS					
	3,713			-		9.00	cft	413	sides compound wall	Excavation for 3 sides co	13	
Total 57.288 57.288	-			-	0	-	no	-				
	79,849		57,288	57,288								
Note: Material + Labour - Total	1,37,137								r - Total	Material + Labour - Total	Note:	
	67.22											

R. M. h



D. o													
Compan						T					7	_	_
0	y remain	Silver Oak	Affect I D			+	+	-		+	-	-	1
Project		Salver Oak	Aller				1						
Work D	escription:	0-4	71005				1	L	J	L	1		7
Properso	By	CHIEF MOUS	Тур	C1 - 3bbk D	uplex Villa	1	1	T	1				
Date:		20 A Lette	1				;	1				_	
	T	12 May 202	2			+	4	 -		-	1	_	
			1		+	+	+				 	+	1
_	Emercation for floatings	-	+		-		i	_		-			
5 No.	thom		-				:	1			1		7
	I pit 1	Longth in B	Width in ft	Height in ft	Quantity in aft			1					4
	2 pit 2	49,10	29.50	7.00	10,15		1	+		-		-	+
	2 pt 2	5.00	5.00				-		+	-	 	-	-
1 —	3 Villa Bears Bottom Excavation	260.00					+	-					
L	4 Compound well Col Pit						1						1
	5 Compound wall Beam Bottom excavation					1			1				
	Sub Total - A	a 157.33	1.50	1.50	354	T				-	1		
	den (bed - V				11,19	1						-	
-					11472	4	+		 			_	
l					-	-		-	-				
S No.	PCC for shotings	Leanth in A	Width in R	Mariata in A			1				Total	Total PCC	Total PCC
	1 Pootings- F1-Fx C	4.50		Height in A	Quantity in cfl	Grid A	Gnd B	OH4 C	Orid D	CHILD E	mentors	city in cfl	dy in all
1	1 Postings - F1 - Fx 6' 2 Postings - F2 - 4'6'x6'6					2.0	0: 2.00	2.00	2.00				223
	1 A A A A A A A A A A A A A A A A A A A	5,00	5.00	0.50	12.50	1.0			1.00		1.00		
-	3 Suly total - B					1			1,00	<u> </u>			. 75
							+				14.00	149	* 298
	Belok ander Plinth	Length in A	Width in 8		-	-	i	l	L				
	2 I leger brisk 12" Width	Copper to the	AL RESIDENCE AND ADDRESS OF THE PERSON AND A		Quantity in nft		1						
	3 Bub Total - C	260	1.00	1.00	260			T					
_	John Idia - C				260		F	 	t 			-	
						-	F						
1						Total	+						
1			,	1	Total PCC qty is		1	1	ı			,	
S No.	PCC for plinth boun	Longth in &	When he	Hotght in ft	TOTAL PCC (RV SI	PCC ay	1	1	1	l	1	1	1 1
	I Orid A.B-1,2	13.41			cfi	in all	1		1				
-	2 Ond A.B-2.3			0.33	46.12						-		
	3 Orid A.B-3.4	7.33	5.25	0.33	12.70	38.4		-	-				
						1 38.4							
		7.33	4.66	0.33					-				
	4 Grid B,C,1,3	7.33		0.33	11.27	34.1	6						
-		9.58	1.00	0,33	11.27 9.48	34.1							
	4 Grid B,C,1,3 5 Grid BC-1,2	9.50	3.00	0.33 0.33 0.33	11.27 9.48 9.48	34.10 28.7 28.7							
	4 Child B,C-1,2 5 Child BC-1,2 6 Child B,C-2,4	9,58 9,58 11,08	1.00 1.00 6.50	0,33 0,33 0,33 0,33	11.27 9.48 9.48 23.77	34.1 28.7 28.7 72.0							
	4 Grid B,C, 1,3 3 Grid BC-1,2 6 Grid B,C-2,4 7 Grid C,D-1,2	9.58 9.58 11.00 9.58	1.00 1.00 6.50 9.83	0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48	34.1 28.7 28.7 72.0							
	4 Grid B,C-,L-3 5 Grid BC-L-2 6 Grid B,C-2,4 7 Grid C,D-1,2 8 Grid C,D-3,4	9.50 9.50 11.00 9.50 11.00	1.00 1.00 6.50 9.83 9.83	0,33 0,33 0,33 0,33	11.37 9.48 9.48 23,77 31,68	34.1 28.7 28.7 72.0 94.1							
	4 Chil B,C,1,3 3 Chil BC-1,2 6 Chil B,C3,4 7 Chil C,D-1,2 8 Chil C,D-3,4 9 Chil D,B-1,2	9.58 9.58 11.00 9.58	1.00 1.00 6.50 9.83	0.33 0.33 0.33 0.33 0.33	9.48 9.48 9.48 23,77 31,08	34.1- 28.7- 28.7- 72.0- 94.1- 108.9-							
	4 Grid B,C-,L-3 5 Grid BC-L-2 6 Grid B,C-2,4 7 Grid C,D-1,2 8 Grid C,D-3,4	9.50 9.50 11.00 9.50 11.00	3.00 3.00 6.50 9.83 9.83	0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 33.94	34.10 28.7- 28.7- 72.00 94.1- 108.9- 25.40							
	4 Gold B,C-1,3 3 Gold BC-1,2 6 Gold B,C-2,4 7 Gold C,D-1,2 8 Gold C,D-3,4 9 Gold D,E-1,2 10 Gold D,E-1,3	9.58 9.58 11.00 9.54 11.00 9.53 9.53	1.00 1.00 6.50 9.83 9.83 2.66	0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 33.94 £41	34.1 28.7 28.7 72.0 94.1 108.9 25.4 25.4							
	Ook B.C.1,3 Ook B.C.1,2 Ook B.C.2,4 Tork C.D.1,2 Ook D.S.1,2 Ook D.S.1,2 Ook D.S.1,3 Ook D.S.1,3	9.58 9.58 11.00 9.58 11.00 9.53 9.53	1.00 1.00 6.50 9.83 9.83 2.66	0.33 0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48 22.77 31.08 35.94 8.41 8.41 33.04	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Gold B,C-1,3 3 Gold BC-1,2 6 Gold B,C-2,4 7 Gold C,D-1,2 8 Gold C,D-3,4 9 Gold D,E-1,2 10 Gold D,E-1,3	9.58 9.58 11.00 9.54 11.00 9.53 9.53	1.00 1.00 6.50 9.83 9.83 2.66	0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 33.94 £41	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Oak B.C.,12 3 Gad B.C.,12 4 Oak B.C.3,4 4 Oak B.C.3,4 5 Gad C.D.3,4 9 Gad C.D.3,4 10 Gad D,B-1,2 10 Gad D,B-1,2 11 Gad D,B-2,4 12 Sak Total - D	9.58 9.59 11.00 9.59 11.00 9.58 9.58 11.16	1.00 1.00 6.50 9.83 9.83 2.66 2.66 10.33	0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48 22.77 31.08 35.94 8.41 8.41 33.04	34.1 28.7 28.7 72.0 94.1 108.9 25.4 25.4							
	4 Gold B.C.,13 5 Gold B.C.,13 4 Gold B.C.,14 5 Gold B.C.,14 5 Gold C.D.,1 5 Gold C.D.,1 7 Gold C.D.,1 10 Gold D.S.,1 11 Gold D.S.,2 12 Sold Tous D. Backfilling of gold	9.58 9.59 11.00 9.59 11.00 9.58 9.58 11.16	1.00 1.00 6.50 9.83 9.83 2.66 2.66 10.33	0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 33.94 8.41 8.41 230.04 235.41	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Oak B.C.,12 3 Gad B.C.,12 4 Oak B.C.3,4 4 Oak B.C.3,4 5 Gad C.D.3,4 9 Gad C.D.3,4 10 Gad D,B-1,2 10 Gad D,B-1,2 11 Gad D,B-2,4 12 Sak Total - D	9.58 9.59 11.08 9.58 11.00 9.58 11.16 109.29	1,00 1,00 6,50 9,83 2,64 2,66 10,33	0,33 0,33 0,33 0,33 0,33 0,33 0,33	11.27 9.48 9.48 22.77 31.08 35.94 8.41 8.41 23.04 235.41 Quantity in e8	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Oak B.C.,13 5 Gal B.C.,12 6 Gal B.C.,2 6 Gal B.C.,2 6 Gal B.C.,2 6 Gal B.C.,2 7 Gal C.D.,2 8 Gal C.D.,3 8 Gal C.D.,3 10 Gal D.B.,12 10 Gal D.B.,12 11 Gal D.B.,2 12 Sal Total D. 8 aptilities of gal 1 1 pt 1	9.50 9.38 11.00 9.58 11.00 9.58 11.10 10.00 9.58 11.16 109.29 Length in R	1.00 3.00 6.50 9.83 2.64 2.66 10.33 Width in &	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48 23.77 31.08 33.34 8.41 8.41 53.04 235.41 Quantity in eff	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Cold B.C.,13 5 Cold B.C.,13 5 Cold B.C.,14 6 Cold B.C.,14 6 Cold B.C.,14 6 Cold B.C.,14 7 Cold C.D.,1, 8 Cold C.D.,1, 10 Cold D.S.,1, 11 Cold D.S.,1, 12 Sob Tout D. Bucklitting of gold 1 plt 1 1 plt 1 1 plt 2 1 plf 2	9.58 9.59 11.08 9.58 11.00 9.58 11.16 109.29	1,00 1,00 6,50 9,83 2,64 2,66 10,33	0,33 0,33 0,33 0,33 0,33 0,33 0,33	11.37 9.48 9.40 23.77 31.68 23.74 31.64 2.41 2.41 2.41 2.41 2.41 2.41 2.41 2.4	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Gold B.C.,12 5 Gold B.C.,12 6 Gold B.C.,12 6 Gold B.C.,12 8 Gold C.D.,12 8 Gold C.D.,13 10 Gold D.S12 10 Gold D.S12 10 Gold D.S12 12 Sold Total - D 8-soldSiles of gold 1 pt 1 2 jul 2 2 jul 2 3 jul 2	9.50 9.38 11.00 9.58 11.00 9.58 11.10 10.00 9.58 11.16 109.29 Length in R	1.00 3.00 6.50 9.83 2.64 2.66 10.33 Width in &	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48 23.77 31.08 33.34 8.41 8.41 53.04 235.41 Quantity in eff	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	Gold B.C.,13 Gold B.C.,12 Gold B.C.,14 Gold B.C.,14 Gold C.D.,12 Gold C.D.,13 Gold D.E.,13 Gold	9.50 9.38 11.00 9.58 11.00 9.58 11.10 10.00 9.58 11.16 109.29 Length in R	1.00 3.00 6.50 9.83 2.64 2.66 10.33 Width in &	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.40 23.77 31.68 23.74 31.64 2.41 2.41 2.41 2.41 2.41 2.41 2.41 2.4	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Gold B.C.,12 5 Gold B.C.,12 6 Gold B.C.,12 6 Gold B.C.,12 8 Gold C.D.,12 8 Gold C.D.,13 10 Gold D.S12 10 Gold D.S12 10 Gold D.S12 12 Sold Total - D 8-soldSiles of gold 1 pt 1 2 jul 2 2 jul 2 3 jul 2	9.50 9.38 11.00 9.58 11.00 9.58 11.10 10.00 9.58 11.16 109.29 Length in R	1.00 3.00 6.50 9.83 9.83 2.66 10.33 Whith in & 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.49 23.77 31.88 33.94 8.41 8.41 238.04 238.41 Quantity in ell 10,137 100 10,339	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
	4 Gold B.C.,12 5 Gold B.C.,12 6 Gold B.C.,14 6 Gold C.D.,14 6 Gold C.D.,14 1 Gold D.S1,2 1 Gold D.S1,2 1 Sold Tool - D 8 Gold Gold B.C.,14 1 pt 1 2 pt 2 2 pt 2 3 Sold C.D. 4 Deduction to breft filing 5 POC for fooings	9.56 9.33 11.00 9.34 11.00 9.35 11.00 9.53 9.33 11.16 109.39 Laught in ft 9.16 9.00	1.00 3.00 6.50 9.83 9.83 2.66 10.33 Widds in & 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 8.53.54 8.41 53.04 225.41 Quantity in ell 10,132 10,339	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
\$ No.	Gold B.C., 13	9.58 9.59 11.00 11.00 9.54 11.00 9.53 11.00 10.29 1.14 10.29 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.0	1.00 3.00 6.50 9.83 9.83 2.66 2.66 10.33 Widdh in ft 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 35.94 8.41 32.00 235.41 Quantity in 48 10,152 160 10,339	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
\$ No.	4 Gold B.C., 17 Gold B.C., 12 Gold B.C., 12 Gold B.C., 14 Gold B.C., 14 Gold B.C., 14 Gold C.D., 14 Gold C.D., 15 Gold C.D., 15 Gold D.B. 12 Gold D.B. 12 Gold D.B. 12 Li Gold D.B. 12 Li Subt Total D Buttliffing of pail Li gld L L Li gld L Li gld L Li gld L L Li gl	9.56 9.33 11.00 9.34 11.00 9.33 11.16 109.29 Laugth in ft 49.16 49.00	3.00 3.00 6.50 9.83 2.66 2.66 10.13 Whish in & 29.50 5.00	0.33 0.32 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 23.77 31.08 8.53.54 8.41 53.04 225.41 Quantity in ell 10,132 10,339	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
S No.	4 Cold B.C.1.3 3 Cold B.C.1.2 4 Cold B.C.2.4 5 Cold B.C.2.4 5 Cold B.C.2.4 5 Cold C.D.1.2 5 Cold C.D.1.2 5 Cold C.D.2.4 5 Cold C.D.3.4 5 Cold D.S.1.2 5 Cold Cold Cold Cold Cold Cold Cold Cold	9.58 9.59 11.60 11.60 9.50 11.00 9.53 11.10 1.00 9.33 11.1.16 109.29 Langth in ft 49.16 5.00	1.00 1.00 6.99 9.83 9.83 1.464 2.66 10.33 Widdh in & 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 23.77 31.08 53.94 53.94 54.01 54.01 54.01 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 55.04 56.	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
3 No.	4 Gold B.C., 17 Gold B.C., 12 Gold B.C., 12 Gold B.C., 12 Gold B.C., 12 Gold C.D., 12 Gold C.D., 13 Gold C.D., 14 Gold C.D., 14 Gold D.S. 12 Gold D.S. 12 Gold D.S. 12 Li Gold D.S. 12 Li Subt Total D Buttliffing of pail Li gld L	9.56 9.33 11.00 9.34 11.00 9.33 11.16 109.29 Laugth in ft 49.16 49.00	3.00 3.00 6.50 9.83 2.66 2.66 10.13 Whish in & 29.50 5.00	0.33 0.32 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 29.77 31.08 35.54 8.41 38.04 275.41 Quantity in ell 10,152 10,152 10,359	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
3 No.	4 Gold B.C., 17 Gold B.C., 12 Gold B.C., 12 Gold B.C., 12 Gold B.C., 12 Gold C.D., 12 Gold C.D., 13 Gold C.D., 14 Gold C.D., 14 Gold D.S. 12 Gold D.S. 12 Gold D.S. 12 Li Gold D.S. 12 Li Subt Total D Buttliffing of pail Li gld L	9.58 9.59 11.60 11.60 9.50 11.00 9.53 11.10 1.00 9.33 11.1.16 109.29 Langth in ft 49.16 5.00	1.00 1.00 6.99 9.83 9.83 1.464 2.66 10.33 Widdh in & 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.40 23.77 31.08 35.94 8.41 8.41 9.40 225.41 Quantity in 48 10,152 10,359 10,359 10,359 140 243	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
\$ No.	4 Gold B.C., 13 3 Gold B.C., 12 4 Gold B.C., 2, 4 5 Gold B.C., 2, 5 5 Gold C.D., 2, 5 5 Gold D.S., 1, 5 10 Gold D.S., 2, 1 13 Gold D.S., 2, 1 13 Sed Tour . D 4 Gold G.S., 2, 1 13 July 1 14 July 1 15 July 1 16 July 1 17 July 1 18	9.58 9.59 11.60 11.60 9.50 11.00 9.53 11.10 1.00 9.33 11.1.16 109.29 Langth in ft 49.16 5.00	1.00 1.00 6.99 9.83 9.83 1.464 2.66 10.33 Widdh in & 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48 23.77 31.68 35.34 8.41 1.32.04 2295.41 Quangity In ell 10,332 10,432 1	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
\$ No.	4 Gold B.C.,12 5 Gold B.C.,12 6 Gold B.C.,14 6 Gold D.J. 6 Gold C.D.,14 6 Gold D.J. 10 Gold D.J. 11 Gold D.J. 12 J.J. 13 J.J. 14 D.J. 15 Socked D.J. 16 D.J. 17 Weshard S.J. 18 J.J. 18 J.J	9.58 9.59 11.60 11.60 9.50 11.00 9.53 11.10 1.00 9.33 11.1.16 109.29 Langth in ft 49.16 5.00	1.00 1.00 6.99 9.83 9.83 1.464 2.66 10.33 Widdh in & 29.50 5.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.40 23.77 31.08 35.94 8.41 8.41 9.40 225.41 Quantity in 48 10,152 10,359 10,359 10,359 140 243	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
3 No.	4 Gold B.C., 13 Gold B.C., 12 4 Gold B.C., 2, 4 Gold B.C., 2, 5 Gold B.C., 2, 5 Gold C.D., 2, 5 Gold C.D., 2, 5 Gold C.D., 2, 5 Gold C.D., 2, 7 Gold D.B., 1, 1 Gold D.B., 1, 1 Gold D.B., 2, 1 Gold G.B., 2, 1 Gold G.B., 2, 1 Gold G.B., 2, 1 Gold G.B., 2, 2 Gold G.B., 3, 3, 3, 4 Gold G.B., 3, 3, 4 Gold G.B., 3,	9.53 9.53 11.00 9.53 11.00 9.53 11.10 9.53 11.10 109.29 Langath in 8 49.16 11.10 11.10 11.10 11.10 11.10 11.10 11.10 11.10 11.10 11.10 11.10 11.10 11.10	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.27 9.48 9.48 23.77 31.68 35.34 8.41 1.32.04 2295.41 Quangity In ell 10,332 10,432 1	34.1 28.7 28.7 72.0 94.1 108.9 25.4 115.2							
3 No.	4 Oak B.C., 12 3 Oak B.C., 12 4 Oak B.C., 24 5 Oak B.C., 24 5 Oak B.C., 24 5 Oak B.C., 24 5 Oak C.D., 24 5 Oak	9.56 9.59 9.59 9.59 9.50 11.00 9.50 11.00 9.50 11.16 109.20 1.00 109.20 1.00 1 1 1 1 1 1 1 1 1 1	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 9.48 9.49 3.37 31.68 3.53 8.41 3.00 2.27 1.10 2.20 2.20 1.10 2.20 1.10 2.20 1.10 2.20 2.2	34.1- 28.7- 72.0- 72.0- 94.1- 108.2- 25.4- 115.2: 713							
3 No.	4 Oak B.C., 12 3 Oak B.C., 12 4 Oak B.C., 24 5 Oak B.C., 24 5 Oak B.C., 24 5 Oak B.C., 24 5 Oak C.D., 24 5 Oak	9.56 9.59 9.59 9.59 9.50 11.00 9.50 11.00 9.50 11.16 109.20 1.00 109.20 1.00 1 1 1 1 1 1 1 1 1 1	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 9.48 9.49 3.37 31.68 3.53 8.41 3.00 2.27 1.10 2.20 2.20 1.10 2.20 1.10 2.20 1.10 2.20 2.2	34.1- 28.7- 72.0- 72.0- 94.1- 108.2- 25.4- 115.2: 713							
3 No.	4 Gold B.C., 13 Gold B.C., 12 Gold B.C., 12 Gold B.C., 14 Gold B.C., 14 Gold B.C., 14 Gold C.D., 14 Gold C.D., 14 Gold C.D., 14 Gold C.D., 15 Gold D.S., 15 Gold Gold C.S., 15 Gold Gold C.S., 15 Gold Gold C.S., 15 Gold Gold Gold Gold Gold Gold Gold Gold	9.56 9.58 1.00 1.00 9.59 9.50 1.00 1.00 9.50 9.50 9.50 1.10 1.00 1.00 1.00 1.00 1.00 1.00 1	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 9.48 9.49 3.37 31.68 3.53 8.41 3.00 2.27 1.10 2.20 2.20 1.10 2.20 1.10 2.20 1.10 2.20 2.2	34.1- 28.7- 72.0- 72.0- 94.1- 108.2- 25.4- 115.2: 713							
\$ No.	4 Gold B.C., 17 Gold B.C., 17 Gold B.C., 12 Gold B.C., 14 Gold B.C., 14 Gold B.C., 14 Gold B.C., 14 Gold C.D., 15 Gold C.D., 15 Gold C.D., 15 Gold C.D., 15 Gold D.B., 15 III Gold D.B., 15 III Gold D.B., 15 III Gold D.B., 15 III gld II J.B. 12 J.B	9.50 9.50 9.50 9.50 9.50 9.50 9.50 9.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 9.48 9.49 3.37 31.68 3.53 8.41 3.00 2.27 1.10 2.20 2.20 1.10 2.20 1.10 2.20 1.10 2.20 2.2	34.1- 28.7- 72.0- 72.0- 94.1- 108.2- 25.4- 115.2: 713							
5 No.	4 Gold B.C.,1.3 Gold B.C.,1.2 4 Gold B.C.,2.4 4 Gold B.C.,2.4 5 Gold C.D.,2.4 5 Gold D.B1.2 10 Gold D.B1.2 10 Gold D.B2.4 12 Bold T.D. 12 Bold T.D. 12 Bold T.D. 13 Bold T.D. 14 Bold T.D. 15 Bold T.D. 16 Gold T.D. 17 Bold T.D. 18 Gold T.D. 19 Gold T.D. 18 Gold T.D. 19 Gold	9.50 9.50 9.50 9.50 9.50 9.50 9.50 9.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 9.48 9.49 3.37 31.68 3.53 8.41 3.00 2.27 1.10 2.20 2.20 1.10 2.20 1.10 2.20 1.10 2.20 2.2	34.1- 28.7- 72.0- 72.0- 94.1- 108.2- 25.4- 115.2: 713							
\$ No.	4 Gold B.C., 17 Gold B.C., 17 Gold B.C., 12 Gold B.C., 14 Gold B.C., 14 Gold B.C., 14 Gold B.C., 14 Gold C.D., 15 Gold C.D., 15 Gold C.D., 15 Gold C.D., 15 Gold D.B., 15 III Gold D.B., 15 III Gold D.B., 15 III Gold D.B., 15 III gld II J.B. 12 J.B	9.50 9.50 9.50 9.50 9.50 9.50 9.50 9.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	0.33 0.33 0.33 0.33 0.33 0.33 0.33 0.33	11.37 9.48 9.48 9.48 9.48 9.49 3.37 31.68 3.53 8.41 3.00 2.27 1.10 2.20 2.20 1.10 2.20 1.10 2.20 1.10 2.20 2.2	34.1- 28.7- 72.0- 72.0- 94.1- 108.2- 25.4- 115.2: 713							

THE STREET

Bill for Labour Charges

G.Sneha Latha H.No.13-1/16A, Surya Nagar Colony, Mallapur, R.R.Dist- 500076

Date: 17-06-25

In favor of: Project / Site:

M/s. MHPL-SOV-III Silver Oak Villas-III

Location:

Cherlapally

Type of Work:

Earth Work Labour Charges

Towards:

S No.	Description	Amount
1.	Brief description of work done:	
	Towards completion of Excavation and compaction and	Rs 64,000/-
	back filling works	
	For V.no 136, 214. Excavation & Back filling compaction	
	for plinth and after plinth back filling, set backs cleaning	
	and Villa PCC laying work Etc.,	
	Total amount = $1,60,000/$ -	
	Work Done from date: 01-04-2023 to date: 03.07.2023	

Amount in words: Rs.Sixty Four Thousand Only.

Bill for Equipment Allowance

G.Sneha Latha H.No.13-1/16A, Surya Nagar Colony, Mallapur, R.R.Dist- 500076

Date:17-06-25

In favor of: Project / Site:

M/s. MHPL-SOV-III Silver Oak Villas-III

Location:

Cherlapally

Type of Work:

Earth Work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards completion of Excavation and compaction and	Rs 64,000/-
	back filling works	
	For V.no 136, 214. Excavation & Back filling compaction	
	for plinth and after plinth back filling, set backs cleaning	
	and Villa PCC laying work Etc.,	
	Total amount = $1,60,000$ /-	
	Work Done from date: 01-04-2023 to date: 03.07.2023	

Amount in words: Rs.Sixty Four Thousand Only.

Sign:	
-------	--

Bill for Consumables Allowance

G.Sneha Latha H.No.13-1/16A, Surya Nagar Colony, Mallapur, R.R.Dist- 500076

Date17-06-25

In favor of:

M/s. MHPL-SOV-III

Project / Site:

Silver Oak Villas-III

Location:

Cherlapally

Type of Work:

Earth Work

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done:	
	Towards completion of Excavation and compaction and	Rs.32,000/-
	back filling works	
	For V.no 136, 214. Excavation & Back filling compaction	
	for plinth and after plinth back filling, set backs cleaning	
	and Villa PCC laying work Etc.,	
	Total amount = $1,60,000$ /-	
	Work Done from date: 01-04-2023 to date: 03.07.2023	

Amount in words: Rs Thirty Two Thousand Only.

Sign:	
51511.	